Maulana Azad National Urdu University
M.C.A 11l Semester Examination - December - 2017

Paper - MMCA302PCT : Analysis & Design of Algorithms
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(1)
e (SUM) G e SH Poehy )
Compilation time & run time (b) The runtime & loading time (a)

uﬁ";féﬁ;uﬁ'uﬁ (d) Linking time & loading time (c)
Lat“nt[ Running Time ./ Retrieve — Array of Size 4 Element ..g

o) @ 02 () O (b) 0 (n-1) ()
-< Attribute 7SS Minimum Spanning Tree

None (d) Unweighted Graphs (c) Weighted Graphs (b) Arrays ()
_‘aCJ:ng(Implement)fU Effectively ,ggu’zi ------------------------------ 4 Prim's Algorithm

Red Black Tree (d) Splay Tree (c) AVL Tree (b) Binary Search Tree (a)
S Space Complexity J/ O/l Knapsak Algorithm

None (d) 0 (2" (c) 0 (n%) (b) o (") (a)

= s Best case time complexity d/ Floyd Algorithm

u’ﬁﬁf;u:d' d) Q (n3) (¢) Big - O (n3) (b) Small - O (n3) (a)

_ugin(Solution) J’JL 4-Queens Problem
Sixteen (d) Four (c) Two (b) One (a)
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(i)

(iii)

(iv)

v)

(vi)

(vii)



" Full State Space Trees» S=6 ./ x={1,2,3, 4} ﬁuﬁSum Z_Sub Sets Problem  (viii)

_Zunﬁ Maximum Number of Nodes

2 (d) 7 (c) 15 (b) 31 (a)
-‘LL"/JL’;’“’ Data Structure Auxiliary A FIFO B&B  (ix)
Binary Tree (d) Priority Queue (c) Queue (b) Stack (a)
-CJ:nguﬁ}Explode »s/Expand ZT&‘L Generated Node i e (X)
Dead Node or Line Node (d) Dead Node (c) Live Node (b) E-node (a)
r» 2

e bliee f()= 4n’ —64n+228=Q(n") S _éfibu"/'@i Pseudocode s/ Algorithm
2_ 5L Algorithm (§1-2- 2,3 Dead Lines S Algorithm £ Job Sequencing
Instance n = 4
s (P, Py, P3, P4) = (100, 10, 15, 27)
(dy, dp, d3,dg) = (2,1, 2,1)

_éfpl’“‘ Solution ¢
_;ij’J/O/I Knapsack Problem ZZ’%;LML/UL»"“U/ Dynamic Programming

m = 40,n=4, (P, Py, P53, P,) =(11, 21, 31,33)

(W1, Wy, Wa, W) = (2, 11, 22, 15)

-:L:fr)’“‘unj m #Possible Subsets < ,L-<Z W ‘m=35.s w={15,7, 20,5, 18, 10, 2} A
- 156K Space Tree Zér)’“‘
()’”J’KJ'L)?L/JWM(E;}G Bound s/ Branch # Instance £ I/O Knapsack Problem ZZ%;
-< 15 #Maximum Capacity d/ Knapsack uf.’f;{
Weight = (5, 7,2, 4,5, 1) s Profit = (40, 30, 18, 4, 10, 2)
_:Ljfr)’“‘u"{ Worst Case Complexity .s/Best Case -ﬁg Quick Sort Algorithm
Maximum Spanning KJ’LnL/UL?"! Kurshkal's Algorithm /Graph Z%)-&%ﬁ( Kruskal
_:Ljf()’“‘ Tree
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zf%;-éfpl’“‘ Shortest Path § Graph Zg;LnZ_/’UL&U/ Floyd - Warshall Algorithm 9)
_gEpk p(K) Ly Matrices DK U Graph

(¥

- La?’Stages JQLBinary Search Algorithm “iLL/ Locate ¥ 90 U~ Ordered List ZZQ; (10)
- 10, 15, 35, 40, 50, 55, 65, 75, 90, 95
_;jfpl’“‘ Worst Case Complexity s/ Average Case ° Best Case

4 Minimum Cost Spanning Tree LML/JL»"“U/ Prim's Algorithm !/(Graph) J'fsz: (12)
-3 F6L_ S F Step by Step

_;fff Travelling Salesman Problem Z%)L}’ZL[JVZ"‘}( Dynamic Programming  (12)
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_:Ljfpl’“‘Hamiltonian Cycle U1z xS )1 Back Tracking S Graph Zg: (13)

(Problem)fjfg Travelling Sales Person LnL/UL»"“' LC Bracnch Bound /Jb“f (Instance) Zg: (14)
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